PROFESSIONAL EXAMINATION BOARD

Group-3 Technical Selection Test 2016

6th April 2016, 09:00 AM

Topic:- G3_General Knowledge
1)

Question Stimulus :-
General Knowledge

How many ‘Gram Panchayats’ are there in Madhya Pradesh? / %Y UG A
ELRIRICREILGRE:

23006 / 3008

23012 / R3°R

24010 / R%¥oo

24720 / R¥LRo
Correct Answer :-23006 / R300%

2)
Question Stimulus :-

General Knowledge

How much is the total amount proposed to be given, for a girl’s education
under “Ladli Laxmi Yojana” of Madhya Pradesh? / 84 u%vr Bt “drSen ﬁ&ﬂ’f
qQioFT" & dgd TP dso! @1 Riem & e oa fra- Wi &1 &1 uwara v@r T 82

« 58,000 / 4¢,000

e 1,08,000 / 2,0¢,000
. 1,18,000 / 2,3¢,000
« 1,28,000 / 2,3¢,000

Correct Answer :-1,18,000 / ?,2¢,000



3)
Question Stimulus :-
General Knowledge

Where is the first Mega Food Park inaugurated in Madhya Pradesh state in
the month of February, 2016? / A UG I H BRa¥, 026 B UYH WM S

UTh &1 IgHUTe Hal §ail UT?

Ratlam / Idd™H
Khandwa / disdl

Barwani / a1
Khargone / LCRIE

Correct Answer :-Khargone / ECRiC

1)
Question Stimulus :-
General Knowledge

How many members represent Madhya Pradesh in Rajya Sabha, the
Parligment of India? / HRd & HHG, AU H I UG & e yfafafra
Bd 82

10 / ?e

11 / R

12 / R
14 /

Correct Answer :-11 / Q2

5)
Question Stimulus :-

General Knowledge



Which one is the state dance of Kerala? / T8 ¥ $I9HT A HT ISP I 3?
« Kathakali / &Pl

e Bharatanatyam / WRdHI&IH

e Kunitha / ?ﬁ%‘[
e Butta Bommalu / QETW

Correct Answer :-Kathakali / &l

6)
Question Stimulus :-
General Knowledge

Where is the "Roop Singh Stadium” situated in Madhya Pradesh? / HH |
# & Rig wieT wa” 8l T 82

e Indore / Eﬁ'\’
e Gwalior / WaIferaR
e Bhopal / viara
e Jabalpur / SIdeqR
Correct Answer :-Gwalior / WIfeaR

7)
Question Stimulus :-
General Knowledge

When did the “Citizenship Act” came in existence? / “FFR&dr iferfaa”
3T § Ha 3T UT?

e 1945 / RR¥Y
e 1948 / R¥¢

* 1952 / N



* 1955 / KK

Correct Answer :-1955 / R4y

8)
Question Stimulus :-
General Knowledge

How many districts are there in Madhya Pradesh? / 9 vewr ¥ fpaq fora 82
e 49 / ¥R
e 50/ ko
¢ 51/
¢ 52/ W
Correct Answer :-51 / 42

9)
Question Stimulus :-
General Knowledge

Kailash Satyarthi, the Nobel Peace Prize winner, 2014 was born in: / 02%¥%

& Aiad ifd REPR faotar, dar=r Fandf &1 5 wel g o
e Jhansi / 31'@
e Vidisha / fafe=m
« Bhind / fiis
e Sagar / 9I"R
Correct Answer :-Vidisha / fafgzm

10)
Question Stimulus :-

General Knowledge



Name the Health Scheme of Madhya Pradgsh, that aims to cover the Child
Health. / U USRI & WA AISHT BT ATH TdTd TS I R WA T ATBTE
HT 3.

 Defaulter Tracking System / %‘WIR?E‘%IT JUTTel!

« Swavalamban Yojana / WIada giei-T

e Prabha Kiran Training Scheme / H‘l-nﬁv_{'UTuﬁ[&l'UTﬁ\_:FlT

« State Ilinesses Fund / I<U 3RAXYAT BN
Correct Answer :-Defaulter Tracking System / f&Wwreex efd yuredt

11)
Question Stimulus :-
General Knowledge

Which one among these sites of Madhya Pradesh is NOT declared as a

World Heritage Site by UNESCO? / U YRl & 51 &dl § I fog wd & gfn!
aRT fay favrad we & w=u A 9ifta T8Y foear war 82

e Chanderi, Ashoknagar / a%ﬂ,emﬁw
e Khajuraho Group of Monuments / meﬁm qYqg
e Buddhist Monuments, Sanchi / WW,H"H’T
« Rock Shelters, Bhimbetka / & Teey, HHacHT
Correct Answer :-Chanderi, Ashoknagar / a%ﬂ,eraﬁm——nw

12)
Question Stimulus :-
General Knowledge

Which one of the "Jyotirling’ of Lord Shiva is situated in Ujjain, Madhya
Pradesh? / 38 q WA Hgled &1 HIF A1 “Sifafeln” I=, 7y uewr # fRuq 32

e Trimbakeshwar / TAdHYR
e Mahakaleshwar / 'FI?WTI?I%I'\’



e Bhimashankar / YHRI®R
« Omkareshwar / 3THBRYT
Correct Answer :-Mahakaleshwar / HFIH»‘I%%I'\'

13)
Question Stimulus :-
General Knowledge
What is the name of the indigenous who built India’s first Nuclear-
submarine? / WWWWWWWﬁWWHﬂWWW
far ur?
« INS Vagsheer / 3STAH aNRiR
« INS Arihant / 33T 3Ed
« INS Chakra / 3SUAY IH
 INS Kalvari / 3MSUAH HAAR]
Correct Answer :-INS Arihant / an'éa‘—r\tr erl?t??r

14)
Question Stimulus :-
General Knowledge

Which one of the following is NOT a mosquito borne disease? / ?Fl'l?r q B
7] Sfa ARt T8l 82

e Malaria / Hafyar

e Dengue / @.‘{[

e Chikungunya / fI&Tqfar
e Typhoid / CITWISS

Correct Answer :-Typhoid / CIgWPhIgS

15)



Question Stimulus :-
General Knowledge

When is the International Women’s Day observed? / Gr?m'@'q 'H'I%ﬁT m e
HATIT SITdT 82

7th March / v 91

8th March / ¢ |

oth March / < A

19th March / R |91
Correct Answer :-8th March / ¢ 9

Topic:- G3_General Hindi
1)

Question Stimulus :-
Hindi

"3rag’ &1 it fasdg ghm:-
I +Wd

S+ + 94

3+ + 3™

3 + 3[4

Correct Answer :-3[] + 31

2)

Question Stimulus :-

Hindi

3m=ft: + arg o «fr gt -
e JTRIRAG



Correct Answer :-3(T=ilaiq
3)
Question Stimulus :-
Hindi
‘anfauta’ 2reg &1 ey 2reg ghm -
o IHATHIG
o 3YIq
¢ AP
o foRIuTa
Correct Answer :-faRIHT@
4)
Question Stimulus :-
Hindi
T o wIsg) # R e W Y =Y @ Y WS ehT-

Correct Answer :-fAfefa

5)



Question Stimulus :-

Hindi

frafafed e & om IR v fig 7Y &1 394 @ Sfaa gamde wfy fafea o3 aa
o fafor
. TR
o T

Correct Answer :-fafor

6)

Question Stimulus :-

Hindi

AP U] & AT Th Aeq BT TG B - o foumdt &1 Y g1 Iwya 7 5
o T

Correct Answer :-3d{7d

7)

Question Stimulus :-

Hindi

frafafea o=t 9 9 firg Isg 797 Sifem)
o WY

e d¥d



* PUSI
o foBrur
Correct Answer -1
8)
Question Stimulus :-
Hindi
T T v fear man 31 e e et & @ wafuarh s # fafta «3-
a
e qIORt
o dig
o« A
. O
Correct Answer :-Sd
9)
Question Stimulus :-
Hindi
frafaf@d wsgl # @ Iut & T A 999 9 9Et Ree g -

qq + o

Correct Answer :-9%i4



10)
Question Stimulus :-
Hindi
i T wreg foar man 21 foE Y fasweul | uegd Ut wra Hifore-
fagm
- fam
e iR
. fa
o 3H
Correct Answer :-fa
11)
Question Stimulus :-
Hindi
frufafea g ¥ @ 99 aM ara 3fa fawen &1 999 S - gur=ifa
« f&T
» Tgsilfe
« DUYRY
o At UG
Correct Answer :-3dt HTq
12)
Question Stimulus :-
Hindi
e geTa¥ #1 wel fawed - a1 yu @ Wt | g
o QI EIAT



e 3G §T AWhG T
» TEd U T
» g ™ B
Correct Answer :-§§d 3JHdl g1
13)
Question Stimulus :-
Hindi
fFrafafaa & g 9 &1 997 Fifom-
« IU &M G, AP 7
e AP Td, Iq 9 &
e Ud AP!, 3q TH
o 39 9 81 dl, IApl e
Correct Answer :-31®! Hd, 34 &1 I
14)
Question Stimulus :-
Hindi
“YRY eI AEF F AT B-
o dEHARTIT fAy
o U Y AP
« SIURBR YHIG
. URAF sRy=
Correct Answer :-URdw 8IS

15)



Question Stimulus :-
Hindi
‘Hia’ BT W g 3-

Correct Answer :-HafiE

Topic:- G3_General English
1)

Question Stimulus :-

English

What is the synonym of: assist
e Sustain
e Obstruct
e Oppose
e Hinder

Correct Answer :-Sustain

2)

Question Stimulus :-

English

What is the synonym of: benefit
e Damage

e Loss



e Drawback
 Aid
Correct Answer :-Aid
3)
Question Stimulus :-
English
What is the antonym of: capable
e Adept
o Apt
e Unskilled
e Deft
Correct Answer :-Unskilled
4)
Question Stimulus :-
English
The ANTONYM of the word ‘FIERCE’ is:
e Strong
e Violent
e Tame
e Scrawny
Correct Answer :-Tame
5)
Question Stimulus :-

English



Find the odd word out:

Arid, Bare, Barren, Moist

e Arid

Bare

Barren

e Moist
Correct Answer :-Moist
6)
Question Stimulus :-
English
Find the odd word out:

Rude, Ungrateful, Insolent, Courteous
e Rude
 Ungrateful
e Insolent
e Courteous
Correct Answer :-Courteous
7)
Question Stimulus :-
English
Fill in the blank:

Usually Sam his wife to work.

e drive

e drives



e is driving

e was driving
Correct Answer :-drives
8)
Question Stimulus :-
English
Fill in the blank:

He said, “"Shhh! Be quiet! The baby "

sleeps

slept

is sleeping

was sleeping

Correct Answer :-is sleeping

9)

Question Stimulus :-

English

Identify the type of the given sentence.

The students wanted to go to a theme park.
e Imperative
e Interrogative
e Declarative
e Exclamatory
Correct Answer :-Declarative

10)



Question Stimulus :-
English
Identify the type of the given sentence.

Stop complaining and concentrate on your task.
e Imperative
e Exclamatory
e Interrogative
e Declarative
Correct Answer :-Imperative
11)
Question Stimulus :-
English
Identify the type of the given sentence.

I waited for the bus, but it did not come.
e Simple
e Compound
e Complex
e Interrogative
Correct Answer :-Compound
12)
Question Stimulus :-
English
Which of the below given words is spelt correctly?

e Apparent



e Apperent
e Aparent
o Aparrent
Correct Answer :-Apparent
13)
Question Stimulus :-
English
Fill in the blank.
Yes, he a laptop.
 have
e do have
 has
e is having
Correct Answer :-has
14)
Question Stimulus :-
English
Complete the idiom.

He started teasing me and I realized that he was pulling my

e hand
e leg

e mind
* nose

Correct Answer :-leg




Topic:- G3_General Maths
1)

Question Stimulus :-
Maths

¥10,000 invested with a nationalized bank, becomes ¥20,000 in just 11
years at r% rate of simple interest per annum. Which of the following
represents r? / ¥0,000 TP JPIAPd d& & AT F43 T 7,5 22 A1 H 230,000
O ad HTURY T B ro% Bt R R | 399 r fas gxifar 82

e 8.33% / ¢.33%
e 9.09% / R.0R%
e 9.9% / R.R%
e 11.11% / 2%.2%%
Correct Answer :-9.09% / R.9%%

2)
Question Stimulus :-

Maths

One root of the equation 5x2 + 2x + Q = 2 is reciprocal of another. What is
the value of Q2? / TH Jd HT AHIBIU 4x? + x + Q = ? fFdl oFa & uRwR®
Q? &1 7H fwa?

* 25 /R4
*1/%
e 49 / ¥R
e 4 /%
Correct Answer :-49 / ¥%

3)

Question Stimulus :-



Maths

A and B has marbles in the ratio of 1 : 3 and B and C has marbles in the
ratio of 9 : 1. If they have altogether 130 marbles with them, than find the
number of marbles with A? / A 3R B & U 2:3 BT YTHIHR ¢ 3R B 3R C & Ui
R:% BT TWHRHR B3R 7% UTH $d 230 HHR gld € af A & U fora TR &

?

10 / R0

30 / 30

90 / Re

13 / %

Correct Answer :-30 / 30
4)

Question Stimulus :-
Maths

Shyam, a trader marks up his goods by 30% but allows a discount of 10%
on the marked up price. What percent does he gain? / T, U$H

30% ¥ AMM R RIfga ovar ¢ afea 39 R [ 400 IR 20% &1 Pe & & srgafa
<Al 8| ATY &7 fhamT ufa=ra e oedn 82

e 20% / R°%

e 23% / 3%

e 17% / 29%

e 10% / 2°%

Correct Answer :-17% / 9%

5)
Question Stimulus :-
Maths

What is the mode of the following numbers: 10, 21, 10, 12, 21, 10, 21, 21,



21,12, 13, 21, 12? / 3 3(®] $I T YUITel! 8:
20,%,29,23,%,29,R%,R%4RLWR,[(RLUN?

° 21 /2

e 12/ R

e 11/

e« 10 / 20
Correct Answer :-21 / 2
6)
Question Stimulus :-

Maths

2 unbiased dices D1 and D2 are rolled and the number appearing on the
uppermost face is noted as S1 and S2 respectively. What is the probability

that (S1 + S2) > 10? / &I FRIYR UTHl D} 3iR DR F dePd & iR W 4§ fewq
qTdT 3P HHRT SR 3R S H S=TaT 8] @ (S2+SR) >20 BT THIT FT TIIN?

* 5/36 / &/3%

e 7/36 / 9/3%

* 3/34 /3/3%

* 1/12 /3R
Correct Answer :-1/12 / /R
7)

Question Stimulus :-

Maths

The breadth of a rectangle ABCD is 5/6th of its length. Perimeter of the
rectangle ABCD is 1320 cm. What is the area of rectangle ABCD? / 3Ad
ABCD 9 TS IH®! aHTs A 4/& ¢ | 3Mad ABCD &t URY 23304.# 8| 3maa ABCD

P1 & d APTa?



100000 cm? / 00000 ¥.HR

108000 cm? / 20¢o0oo0 ¥.HR

180000 cm?2 / 9¢oooo J.HR

118000 cm? / 33¢ooco H.HR
Correct Answer :-108000 cm?2 / %0¢ooo ¥.HR

8)
Question Stimulus :-

Maths

ABC is a triangle. The sum of all interior angles of triangle ABC is 180°. The
difference between A and B, and B and C are 30° each. What is the value of

A/C? / ABC U& f3&iur g| Bsiur ABC & 3iiaive it S1ui &1 a1 2¢00 81 U U
MR &1, 3R ot 3R At F i P71 3R 300 7| T/ BT ALY T TR

*1/%

*2/R

*3/3

e 25 /3.4
Correct Answer :-3 / 3
9)
Question Stimulus :-

Maths

The ratio of walking speed of Anand and Bimal is 3 : 4. The time taken by
Anand to cover 4 Kms is 72 minutes. What is the time taken by Bimal to
cover the same distance of 4 Kms? / 3fFi¢ 3R faua &1 ega= &t fq &1 3 quma
3:¥ g e ¥f. M &t gt vftFTe ® au wrar 2| fawa & gue ¥f%. i it g g
oA ¥ frar Iug am?

e 54 minutes / ¥ fiq¢



e 96 minutes / & fAe
e 48 minutes / ¥¢ fiAe
e 69 minutes / &R faAe
Correct Answer :-54 minutes / ¥ fiqe

10)
Question Stimulus :-

Maths

Evaluate: fe5!99. % dx / Geai®+ Piford: fet1o9 X dx

6logx + C / &logx + C

e®+c/eb+cC

x6/6 + C/ x%/s + C

x>/5+eX+C/xY4+eX+C

Correct Answer :-x%/6 + C / x%/& + C

11)
Question Stimulus :-
Maths

What is 75% of 40% of 25% of 50% of 12000? / 94%T ¥0%®T 4T
40% T 3000 TT §?

e 900 / Qo0

¢ 450 / ¥Y4o

* 225 /R4
« 3600 / 3§00

Correct Answer :-450 / ¥4\o



12)
Question Stimulus :-
Maths

5 bells tolls at an interval of 2, 4, 6, 8 and 12 minutes respectively. If all 5
bells tolls together at 10am, then how many times they will toll together
from 10am to 12 noon? / Sfedl & HHIR, ¥, §,¢ 3R R F AT R ISIAT ST g
R Tt 4 Bfewl &t AA H 20 yated ) a1 S1dT 8, a1 20 YaTe | 2R SMURTEH aF
frat IR 1y & Fontt?

*5/4
6/ &
4/%

8/ ¢

Correct Answer :-6 / &
13)

Question Stimulus :-

Maths

S denotes the sum of two roots and P denotes the product of two roots of
the equation 3x2 - 6x + 4 = 0. What is the value of S — P? / S & 4@l & I

®! =TT 8 3R P SIS B S el & JHIHT 3x} - &x + ¥ =0 B! ST 8| S-P BT
HF 9 $I?

* 4/3/%¥/3
*2/R

* 2/3/R/3
« 3/2 /3R

Correct Answer :-2/3 / /3

14)



Question Stimulus :-
Maths

The position vectors of points P, QR and S are a, b, (2a + 3b) and (a - 2b)
respectively. Which of the following is the position vector of SQ? / ﬁ'g’ P, Q

R 3R S &I daex fRAUfT HH a, b, (Ra + 3b) 3X (a - 2b)g| 599 ¥ SQ FI AT
fufe T gihfie

e 3b-2a/3b-Ra
e 2a-3b/Ra-3b
e 3b-a/ 3Ib-a
ea-3b/a-3%b
Correct Answer :-3b-a/ 3Ib-a

Topic:- G3_General Reasoning
1)

Question Stimulus :-
Reasoning

Which of the following conclusions are most obvious in relation to the

statement given below: / Rufefad & ¥ H19 1 ey = fow T 9 @ 994
WTGT WY Hdl 82

Statement: / s¥=: Vehicular source contributes 60% to the tota_l pollution
level of Delhi, as informed in the Rajya Sabha today. Isd IHT # ¢ Wit

USRI & AR et & @ Uguor W | a8+l &1 INGH &o % 8|
Conclusion: / fss:

I. The court has ordered that the main source of pollution should be

identified. / &. <A 3 UGWUT & YT HIdl B Uga H1 & TSR AT §)

II. The problem of pollution is high in the work list / 9. UgUUl P gHT
o1 gEl § 3 RIF ¥E@dl 8

III1. In the other cities also, vehicular source .cqntribut_es around the
same percentage level of pollution. / 7. 3= 2rg% # W} arg=l &1 Uguur Ht
gfa=raar & TNTEE SHIT SRTER 81 8

IV. This matter was first raised in the Lok Sabha. / 4. g9 'ﬂ% DI JAUYH



A GHT H ISTAT 14T 7|

V. Not many towns in India face the problem of pollution. / S. YRd &
I R UGUUT Bt THRT A R |

Only IV and V / 99 (9) 3R (¥)

OnlyIIl / AE @

Only I and III / HIF & 3R T

Only V/Y.HA S
Correct Answer :-Only II / HIT 9

2)
Question Stimulus :-
Reasoning

In a certain code language “FIGHT" is written as "#%!@$"” and "DEAL" is
written as “"&<U*"”. How will "FAIL"” be written in that code language?

/ Tl “wrge” &I Yikfde HINT A “#%1@$” forar 9irar § 3R “"Sia” &1 “"&<U*",
foraT wirar 2. I UPR “ha” Jidbfae HINT & B H»a faai?

% *U#

#UO% *

#U% #

e U#*9%
Correct Answer :-#U%*
3)
Question Stimulus :-
Reasoning

Which one will replace the question mark in the third figure below? / =

feu e AR i | uyaree e & E W A



18 / ¢

12 / R
9/R
10 / %0

Correct Answer :-12 / R

4)
Question Stimulus :-
Reasoning

Sunil was facing east. He turns 100 degrees in the clockwise direction and
then 145 degrees in anti-clockwise direction. Which direction is he facing

now? / GHId [XE FI 3R 3G 3T 3. I8 200 &t afdromad goar 8 ok b 2wy &kt
aTHTad qHaT 2| ofd 9 fry s &1 WTHAT $ 3@ 2.

East / Rd

North / <X

South-west / &féror-ufim

North-east / STWR-Jd

Correct Answer :-North-east / BT-I'\T-IQ‘

5)
Question Stimulus :-

Reasoning



Pointing to a man in the park, Arun said, “"His son is my son’s uncle.” How
is the man related to Arun? / UT® # T anmﬂﬁwsmmm 35U Hdl g,
“"IIPT 92T W 9¢ BT T[T 8.” 39 fad BT 3BT A T e 2.

e Brother / 'l-ITs‘
o Father / Gl

e Uncle / AT

e Grandfather / <lal

Correct Answer :-Father / fdl

6)
Question Stimulus :-
Reasoning

Charu is the mother of Atul. She and Quincy are sisters. Quincy’s mother is
Zia. If Pravesh is son of Zia, which one of the foIIowmg statements is

correct? / W@g{&%m% agﬁv%ﬁagﬁ% fedt &1 A1 forar 8. 3R wawr forn
®T YA 8, A T8 A B T HYT I 82

e Quincy is the grandmother of Atul / f&3t 3rga 91 gl 8.
e Pravesh is the maternal uncle of Atul / UCR Il pT HTHT %
« Pravesh is the brother of Atul / Ta% 3/gd $T YTS 3.

e Charu is sister of Zia / A= orar &t de- %

Correct Answer :-Pravesh is the maternal uncle of Atul / Wa%I ST hT HIHT 2.

7)
Question Stimulus :-
Reasoning

Amit starts walking in the North direction and travels 5 km then he turns
to his left and walks 10 km and he again he turns to his left and walks for
5 km. How far is he from his starting point? / 3ifid 3= fa=m &t 3R a1 ==
Hdl 8 3R 4 fHH gem & a1g IrfY 8k g1 8 3R 20 f&H aaar 2. 98 fbe oA s
s 7 4 [t Taar 2. a8 v+ RS M A fFast g8t W) 8?2



5 km / 4 f&. 1
15 km / 24 f&. 4

10 km / 20 f&.#

20 km / 3o f&.#t

Correct Answer :-10 km / 2o f&.

8)
Question Stimulus :-
Reasoning

A clock which is accurate shows 08:00 in the morning how many degrees
will the hour hand move when it will show 04:00 in the evening? / U&®

TR ag & S o¢:oo 79 §, A 3P °E P Y3 P A W@ Hoe e Az &
0¥:00 FGI?
e 180 degrees / 2¢o feaht
e 240 degrees / %o f&h
e 320 degrees / 30fSH
« 270 degrees / R9of&
Correct Answer :-240 degrees / ¥o &t
9)
Question Stimulus :-

Reasoning

Which of the alternative figures would correctly fill in the blank space in

the following series of number? / o a1 dsfers siwsT Fafafaa Jemnset #1 gaar o e
T $ g &1 A W g&dl 8.

1, 8, 16, 25, 35, 46,... / %,(,386R%3% %% uunnne
* 33/ %
e 58 / &¢



+ 35/ 34
« 55/ 4y

Correct Answer :-58 / 4(
10)
Question Stimulus :-
Reasoning
Which one word cannot be formed from the letters of the word
‘PRECARIOUS’? / ‘fU&RO¥(PRECARIOUS)’ ¥ & qUN ¥ P AT Ve A8l a4
qHdT 8?2
« Copper / PIUR
« Pious / fasiy
e Precious / Ul
o Care / G

Correct Answer :-Copper / PIUT

11)
Question Stimulus :-
Reasoning

How many X’s are there in the following serles, which are immediately
preceded by E and followed by N? / fafefad g@ar # feaq ‘X’ €, ’oF& usd E
3T 8 3R forg® 916 N 3imaT 82

PEXRTNEXLRENXUPEXTAXFEXLNEX/‘ﬂ'&{WWﬁW'&'WHW'&'W
T g Ut 35U <t T TS 3% § UeN U9 U § A

* 2 /R
*3/3
e 1/
* None ofthese/%‘l’ﬁ'\ﬁﬂﬁ?ﬂﬁ



Correct Answer :-None of these / ?Fl'l?r I Hﬁi G

12)
Question Stimulus :-
Reasoning

If WATER is coded as XBUFS, how is AIR coded in that code? / 3R C Iy
(WATER) &I TRISIQUGTH(XBUFS) fiRar oI df ©¥ (AIR) & &9 fordie

BJS / dlviuyg
UFS / qU%TH

BUF / ¥qU®
XBJ / TaHdtSt

Correct Answer :-BJS / §ioigdg

13)
Question Stimulus :-
Reasoning

If the second half of the following alphabets is written in the reverse
order, which will be the tenth letter to the left of ninth countir_:ﬁ fromgﬁgur

right end? / 3rR fAgifda qui & e =t faudia ww # forar 9 I
fia gu =ia 9uf & 95 3R R0aT qui FT ghM?

ABCDEFGHIJKLMNOPQRSTUVWXYZ

AL IS MRS RIEE LS PO IS R P SIS H R CISEU ISR E IR S
I/ 3
c /it
I/
H/Ud

Correct Answer :-H / T

14)



Question Stimulus :-

Reasoning

3R TP U9 & Bl 9gudd W fafia g ik wdie s-i(fSg, R, Ay, »id, 9a ik
Tif) 9, d@ & a1 fag fdg & fAudia smam? e g iR R A q=it e eA &
fFrifea fRufaal @t Igar A 3w e. / If we draw different signs and symbols
(dot, arrow, triangle, cross, circle and square) over six faces of a cube,
which symbol will fall opposite to the dot? Answer with the help of
following positions of the cube shown in images P, Q and R.

A- ;:E 0 |

. Dot/ﬁg
. Arrow/?ﬂ?

e Triangle / ﬁnﬂ
e Cross / ®i¥
Correct Answer :-Cross / I

Topic:- G3_General Science
1)

Question Stimulus :-
General Science

Sting of a Bee is very painful. Which Chemical is present in the sting? /

AYARE! FT SF (G d NSRS §1a1 8| N H P A1 I gl 372
 Hydrochloric Acid / gSSIGaIR® 3
e Sulfuric Acid / IERIR® 3
e Acetic Acid / Yo (TRiIfed are)
e Methanoic Acid / ﬁrum‘fsw 3+



Correct Answer :-Methanoic Acid / ﬁ-ﬂlﬂv@ 3T

2)

Question Stimulus :-

General Science

Japanning is a : / SITUIfST 8 Uh:

e Name given to Japanese Information Technology Methods /

ST JEAT Wenfre faftrt &) foar gem am

 Type of finishing given, usually based on lacquer / ﬁ"‘{E‘({
THTYA (URSHROT) HT YHR, FIYRUE: TR (INTF) TR YR

 Kind fishing technology off the coast of Japan / SITUH & dc-
THIUR IR A agd AcaUgUl

e Kind of Font used to type word documents / CERCIIEG]|
(STITASIT) & dHUT H gagd Ye-aif (BI<)

Correct Answer :-Type of finishing given, usually based on lacquer / %QE‘Q
THTY (UFRSHUT) BT PR, JTYRUE: TR (IF) W Mt

3)
Question Stimulus :-
General Science

Which of the following is commonly known as the Laughing Gas? /

frafafead d @ g JTuRor: g/ A9 (i ) & 9 § ST ST 82
 Nitrogen Oxide / q’l%a?rﬁ aﬁaaﬁ‘s
e Dinitrogen Tetroxide / Eﬁﬂﬁﬁmé@m
e Nitrous Oxide / ATgcH JAHTRITSS
e Methane / e
Correct Answer :-Nitrous Oxide / FTIg¢H ATFITSS

4)



Question Stimulus :-
General Science

Hydrogen Chloride when reacts with Sodium Hydroxide forms Salt and

Water. This Reaction is known as? / m@ﬁmwm@m@ra@ma@m
yffehaT &eal § df 99Ul U9 oTd ST 8| S Wfdfshar &7 A1 872

 Neutralization / U0 (ETAEWIRA)

« Combination / I (HIRAH)

« Redox / UIAITY (VSIH)

* Precipitation / GIHQ'lTUT (ﬂﬁlﬁ%’-‘tﬁ)
Correct Answer :-Neutralization / FSIHTd®RUl (JggTemgwem)
5)
Question Stimulus :-

General Science

Pasteurlzatlon is agrocess which involves heating of liquids at:- /

o IRl &1 I9ue af|rferd §:-
e 120° C - 130° C for 60 Minutes / R0° T. - 30° V. W o AT &

ferg
e 80° C - 90° C for 30 Minutes / ¢o° ¥, - R0° ¥, T 3o fic & forw

e 60° C - 70° C for 30 Minutes / 9. §0° ¥, - Wo° ¥, TX 30 fiAT &

fere

e 70° C - 80 ° C for 60 Minutes / . 90° &, - (o° . W go AT &

fere

Correct Answer :-60° C - 70° C for 30 Minutes / ¥. §0° ¥. - bo° ¥, W 30 fiAe

¥ ferg

6)
Question Stimulus :-

General Science



As per the Wild Life Protection Act, The Indian )Nild Ass is placed in which
of the following Species Category - : / T Siq W& A & AR, YR
99 Y ol FuffRa A S A yerfd T A @ g -

e Rare / g?f‘u

 Endangered / oW (faguum:)

e Endemic / R (STW)

e Vulnerable / W (&rﬁlﬁaﬁ?ﬁﬁ)
Correct Answer :-Endangered / d®e¢iw (faquum:)
7)

Question Stimulus :-

General Science

Diamond that we use in jewellery is / o1 forgsT 80 TIET-ﬁ H IUANT B %', dg %
®* acompound /Wtﬁﬁlﬁ
* ametal /UP YUTd
® a mixture of compounds / RSP 1 T forgor
®* an element / Udh dxd
Correct Answer :-an element / Y& dxd
8)
Question Stimulus :-

General Science

The Scientific phenomena that produces Oxygen is called: / dg aﬁTﬁW HcHl
(UfHT) ST SHTRIISTT &1 ST HdT, 8 I§ Hel oITdT 8-

* Respiration / 434

« Photosynthesis / UHTRI-HAYUI

« Fermentation / f&uae



e Photorespiration / USRIG W@I9

Correct Answer :-Photosynthesis / UhTI-HZCTIOT

9)
Question Stimulus :-
General Science

Which among the following is an Egg laying Mammal? / Fufafea A S =
TS fEraicasia (3isT 39 arar) w-uril Siig 82

e Duck-Billed Platypus / §9-3g @feuq
. Bat / IWNES (TgS)

« Rose Pelican / T@d ([aTdl) gaRita

« Salamander / ATATHSY

Correct Answer :-Duck-Billed Platypus / §9-3g Wfeud

10)
Question Stimulus :-
General Science

The harmonigs present in a pipg open at one end is called: / T®h BR W g@f
gU U& AforeT § IufRd THER (3@ T) Hedrd &

« 0dd Harmonics / fauq 3rg&y

e Even Harmonics / 9H 30

e Even and Odd Harmonics / 9 T4 fauyq 3rg&q
 Binary Harmonics / T (fg=¥17) srg&u

Correct Answer :-Odd Harmonics / fauq 3@y

11)



Question Stimulus :-
General Science

Which of the following part of the earth doesn’t allow the S wave to pass

;l_:?rrc%?h itself? / fafefaa & ¥ gudt &1 19 A1 YR WI-a70 & W94 A gIH TorA

« Outer core / 9T& HIS

e Mantle / 3TdRUI

® Crust/ ‘ﬁ[—qdff

* Inner core/ e-n?rhaaaﬁ:c;
Correct Answer :-Outer core / dTdl ﬁtﬁ’
12)
Question Stimulus :-

General Science

Boiling point of Alcohol is comparatively hlgher than that of the

corresponding alkane due to: / qRNR ( ) &1 $WH‘H§WW§?
FYAID A AATHS U I IR (3HfU®F) g BT FROT 8:

e Intermolecular Hydrogen Bonding / W-WE@W 3y
e Intramolecular Hydrogen Bonding / W-WE‘E’,@W 3T
« Volatile Nature / aroq=fid (Icardt) upfa

« Hyper Molecular Bonding / 3ifd 3uifd® ey

Correct Answer :-Intermolecular Hydrogen Bonding / 3icR-3(UIf[A® g8gIo
3Ty

13)

Question Stimulus :-

General Science

Which of the following oceanic waves are caused by an earthquake? /

Frafafad & Q $19 91 AEERRTY 93 Te YHH & BRI Gl 82



Tsunami /'{FITFﬁ
P waves / U} a3l

L waves / EF[?R'?I

S waves / T GELl

Correct Answer :-Tsunami /'ﬁ-'-m:ﬁ
14)

Question Stimulus :-

General Science

Vitamin essential for proper functioning of Liver and clotting of blood is: /

T%d & 3Ifa frureiierdr U9 Iad & smeie (Hued) 24 Srurawa® faert  g:
e Vitamin E / ﬁET&F-I'Ef
e Vitamin A / ﬁET&F-It{
e Vitamin B-12 / ﬁETﬁHEﬁ-N
e Vitamin K / e &
Correct Answer :-Vitamin K / faeif®= &

Topic:- G3_General Computer Knowledge
1)

Question Stimulus :-
Computer

What is the main function of the electronic spread sheet? / EﬁﬂflﬁHT fawr
wad (WS xfie) F1 =1 o1l |1 82

« Filtering / MY
e Merging / faaa+
e sorting / JYIhUT



o All of Above / JURIad Ot

Correct Answer :-All of Above / SURIad gt

2)
Question Stimulus :-
Computer

List of instructions is called as: / f¢=N @t gt (a1ferepT) Heam 3:
 Firmware / Ufshar a= Arlt
« Embedded / 3d:¥1fud

e Program / HHCTT
 Software / Ti¥ (JTFEAWR)
Correct Answer :-Program / WT%‘QT
3)
Question Stimulus :-

Computer

A computer cannot perform any function without: / T% WU® (FWEI) STD
YT § B ST Aol B JDhdl:

e input device / fa%1 I (31Ye fears¥)
« hardware / T (FEAW)
e chip set / RiT de
« program / HHIGY ()
Correct Answer :-program / HHIGRT (VIITH)

4)
Question Stimulus :-

Computer



How many number of transistors are in the 4th generation chip? / ¥ g

 fg & gfetur=afE (eiforer) 3t T fea- gl 22
e 1000 transistors / 2000 UIRDINICS I EE |
e more than 1000 transistors / 2000 UfaRIyT=aR= ¥ 3iftre
e billion transistors / T&®h 3RY yfaRiuT=ai=a
e 10 transistors / 20 UfeRIUTART
Correct Answer :-1000 transistors / 2000 UfaRIuT=af=

5)
Question Stimulus :-
Computer

Which of the following first microprocessor is built by Intel corporation? /
Frafafad & F 19 91 749 Geausae (SHIMER) &1 Ui $e¢d SRURRE gRT
foar war?

e 4004 / ‘Yoo¥
e 8085 / (ol\
e 4089 / ¥olR
e 4005 / Yool
Correct Answer :-4004 / ¥oo¥

6)
Question Stimulus :-
Computer

Which of the following hardware was used by the first generation

computers? / fFafafad & Q ST A T BT ITART UYH USTH H0rD) gRT fHar war?

¢ LSI / TAUHSATE
e valves / dUIC (died)



« SSi / THEHAMTS
« none of the above / IWIad H ¥ &I a8l

Correct Answer :-valves / PUIC (dicd)

7)
Question Stimulus :-
Computer

Hexadecimal digits represented 1 to 9 and A to: / . WS- 3 g2id A
RARTA A&

e C/C
e F/F
e B/B
e D/D
Correct Answer :-F / F

8)
Question Stimulus :-

Computer

Half byte is defined as: / 34 arg¢ &1 ¥ uRYRT fHar s g:
« Bit / foe
« nibble / fAed
e byte / dIgcC
« word / I (38)
Correct Answer :-nibble / fA&d

9)

Question Stimulus :-



Computer

Octal equivalent of 111010 is: / 2%%0%0 &1 SIPTYRT JUBE %:
e 84 /(¥
e 70 / o
e 72 / VR
« None of these / IWRIad H A &Is gl
Correct Answer :-72 / 9O

10)
Question Stimulus :-
Computer

Number of bytes in 1110 0101 0011 1111 1010 0001: / 3330 0302 0033 2332
R0%0 00o? H §IgE Bl TS &:

e 1/
*2/R
e 3/3%
c 4/
Correct Answer :-3 / 3

11)
Question Stimulus :-
Computer

Floppy disk in a computer system is defined as a: / T® IU® Ui¥ad (FHeR
Rrew) A 90y gferer (wirh fap) <1 °F ufkvia fear sirar 2:

e firmware / Ufshar g AT
e interpreter / 3Jdig®



« secondary memory / fgdtas Sfa
« hardware / 93T

Correct Answer :-hardware / I3

12)
Question Stimulus :-
Computer

In academic testing, which one of the following is used? / ﬁ&rﬁm? LRifaly) ff,
fFrafafeaa o @ feaeT Suai gl 82

« OMR / 3THIR
e MiCR / THITSHISR
« SOP / T3t
« COR / WI3fl3R
Correct Answer :-OMR / 3ITH3MR

13)
Question Stimulus :-
Computer

Which one of the following produced output by the computer system? /

fufafea & @ F1 ve S1ue uRda gRT Sa@rfed aRkomH 82
e Text / UTSU
e Voice / ¥R
e Graphics / ICE]
« All of the above / SWRIad Tt
Correct Answer :-All of the above / IURIaT 9

14)



Question Stimulus :-

Computer

Attributes of a file are: / 4. &t @ (h1ge) F1 faRivar 8:
e Name / ATH
e Location / 3dR(Tq
e Type / UPRR
« All of the above / SWRIad 94t

Correct Answer :-All of the above / SWiad gt

Topic:- G3_Electrical
1)

Question Stimulus :-
Electrical

Energy savings potential of variable torque applications c_ompared to_
constant torque application is: / 3R ed Glﬂ'l;rtﬁ'lT L4 LGEGL H W T GIﬂ';I’ﬂT"ﬁ |
oIl 9 DI &HET il 3

e higher / 3
e minor / 3c4
e equivalent / GH®E

« None of the above / SWRIa # ¥ &I a1

Correct Answer :-higher / 3«

2)
Question Stimulus :-
Electrical

For given alternating voltage find the value of frequency V = 210 sin 214t.

/ﬁ%ﬂgmm(aﬁm) fore amgfer &t &1 /I 9d BY, STET di= 210 IIEA
2148 |



33 Hz / 33 §cdl
34 Hz / 34 §¢o
35 Hz / 35 §¢ol
36 Hz / 36 §¢o

Correct Answer :-34 Hz / 34 s'évr

3)
Question Stimulus :-
Electrical
What is temperature coefficient (per °C at 0°C) for German Silver
conducting material? / e Riear JArdd gerd Hareq & fore (o° f&3h Sferay
wfa feilt AfRmasT) argwm= oiie «an gRme?
e 0.00044
e 0.00428
e 0.00027
e 0.0001
Correct Answer :-0.00044
4)
Question Stimulus :-
Electrical

For high values of armature current, the speed of a dc series motor is:

/arrﬁavaﬁﬁgu?rum%aatrﬁﬁ%m o f3F yaar Mex 3t afa Hl gidl 82
« proportional to armature current / 3R fagad YRT & SrgUIfa®

« inversely proportional to armature current / 3THwR fagad YRT &

e constant / 3R



« none of these / IWRIad A A BIs gl

Correct Answer :-constant / 3R

5)
Question Stimulus :-
Electrical

In a synchronous motor, the minimum armature current occurs at:- / T®h

JPII® Hiex §, a¥ iR figaa yrT i w I+ a1t 2|
« zero power factor / X[ ¥fad UG
 unity power factor / HHIH FII‘%W
 lagging power factor / it zrfea Ul
 leading power factor / 'EI}@[!II‘% UTh

Correct Answer :-unity power factor / 9HIH fea R

6)

Question Stimulus :-

Electrical

When 3-phase supply is given to the stator of the motor, a / Sid 3-IROT qredl
fagaa smyfd v Rifds Hiex @1 & 96l 8, T

« rotating field is set up / TAA aTa &F RIS BT 8
« pulsating field is set up / TWfed g araT &7 WG a1 &
« revolving field at synchronous speed is set up / eSS fd |

THA arer & T giar §

e rotating field at the rotor speed is set up / ‘ELUW G| ‘E{Fﬁ CLGIH
&= w1 giar 8

Correct Answer :-revolving field at synchronous speed is set up / Wﬁﬁ?

i & gH e &7 wfd g §



7)

Question Stimulus :-

Electrical

In the below given deflecting torque equation “"B” indicates:
T feg e fagaor erd witevor d & feast $Ra o 6:
Equation: Deflecting torque = N.B.A.I

e faggur e = v4.§1.1.90ms.
e Constant / Fadi®
 Flux Density / YdTg & g9«

e Current flowing throughout the meter / Hiex ® yarfed gi arel
fagaa urT

e Number of turns in the coil / $8dl ¥ BT B JBT
Correct Answer :-Flux Density / Udlg & g9
8)
Question Stimulus :-

Electrical

Resistivity of electrical conductors is affected by:

fagud gumas! & ufeRtuewar ¥ yuifad gidl &:
e temperature / dIYHA

pressure / qdid

composition / 49
all of the above / SWRIad g4t

Correct Answer :-all of the above / IRIad g

9)



Question Stimulus :-
Electrical

If a flux of dc series motor reduces, its speed will be / afe St et Hlex &1
YaTg HH gidT §, df SHD! i

« be infinity / 3Fd gRft
e be zero / I it
« be between zero and infinity / I 3R 3Fd & ¥ g
e constant / 3R gIft
Correct Answer :-be infinity / 3/=d giift

10)
Question Stimulus :-
Electrical

In a dc machine the maximum losses occur due to: / Th SR axfig &
3frpdn gy fras SR gl 22

e zinc losses / ST &1 §1H

« electrical losses / fagadia g1+

« copper losses / il @t g4
« none of these / IWIad A A &Ig a8l

Correct Answer :-copper losses / didl &1 g9

11)
Question Stimulus :-
Electrical

As compared to an amplifier, a transformer cannot:- / T% THTHRIR &I el
¥, TP TETR T T8 BT GHdl 22

 decrease the output voltage / diees & IdigT H HHI



« increase the input current / fdgad ¥RT & fa= & gf s
e increase the output power / 36 & IdGH H gf

« none of these / §9H ¥ ®I§ gl

Correct Answer :-increase the output power / 3ol & IUTed o q@

12)
Question Stimulus :-
Electrical

The direction of rotation in a conventional shaded-pole motor can be

reversed by / T% URURS SMIifed Ydia Alex ¥ guiv ot ez & {9 gRT wgw
(IweT) far o1 JPar @

reversing the line connections / @IS TS ® WRIGT HID
use of a capacitor / T®H HYUTRT &T IUANT
reversing the rotor / X (‘E[UW) G| WRIGd PID

reversing the stator poles 180° / ®fd® Yd & 180 © TId 3

Correct Answer :-reversing the stator poles 180° / wfds Yd &I 180 ° UI®
PP

13)
Question Stimulus :-
Electrical

Which function cannot be specified for all times by simply knowing a finite
segment? / {59 o1t & ve "t Ws 19 811 W &% Ay Ay 8 fobar s
T 82

e The unit step functions / WI% TRUT BT BT

e The unit impulse functions / Wl'sf 3T BT BT

« Non periodic functions / TR-3aft® &1d



« The exponential function / UTdi®g &4
Correct Answer :-Non periodic functions / R-3mafie wrd
14)
Question Stimulus :-

Electrical

Find the average current flow in the wire. / dRR s | WI‘[%?[ iﬁﬁ CI] ﬁg‘q?r URT hT
3N BT HF JTd B

Given: type of wire metallic / I8 ¢3d gU : R 4T & UPR

Total electrons drift across section per second = 1020 / $d sadei-l Ufd
e = 1020 JFUTT WX | 9819

e 1.5A / 1.5 TARR
e 1.6A / 1.6 THRR
e 15A / 15 TR
« 16 A/ 16 THRR
Correct Answer :-16 A/ 16 Q‘Flﬂ'!ﬂ

15)
Question Stimulus :-
Electrical

The disadvantages of machine commutation are:- / w2 uRad & @

argfae gidt g:-
® Large machine size / 93 3THR $t AT
® Restriction on the speed range / Tfe T W ufasy
® Both of the above / JIWIa gl

® None of the above / mﬁ'ﬁaﬁ?ﬂﬁ

Correct Answer :-Both of the above / IURIad gl



16)
Question Stimulus :-

Electrical

Coolng time constant is denoted as:- / ¥aa- 9Hg fFadi® & 59 Tu d RIfga
o S 8: -

e Tau / dI3
e Lux / d

« Farenhiet / BRAgISC
- Degree Celsius / & 9}y

Correct Answer :-Tau / dI3

17)
Question Stimulus :-
Electrical

The faults are due to short circuits in conductors.

/ S ITa® W @Y URUY_ & HROT BT 8
Shunt / Y&a-T

Series / §@dl
Parallel / 9HHIGR

Fixed / RR

Correct Answer :-Shunt / UBAAT

18)
Question Stimulus :-
Electrical

All transmission and distribution systems are phase systems.

/ Tt urwor 3R faRor yomeht TROT YTt o




e 1

e 4
Correct Answer :-3
19)

Question Stimulus :-

Electrical

Group drive has power factor. / 9Hg gIgd RIES] U gl

e Low / ®H
e High / 3
e Medium / HOH
e Fixed / faféa
Correct Answer :-Low / ®H

20)
Question Stimulus :-

Electrical

braking of electric motors occurs when the energy stored in
the rotating mass is dissipated in an electrical resistance. / K
4% 9 TGT § 99 YUiF $oadH § GUgd Selt & U fagad ufaiy o
3y fomar e g1

e Dynamic / Tfa=id
« Regenerative / TAdol

e Variable / WX




« Constant / fAadi®
Correct Answer :-Dynamic / TIfa=ii@

21)
Question Stimulus :-
Electrical

In which type of bus the magnitude and the phase angle of the voltage are

known? / 16 UPR & 99 # dicesl & URHATOT 3R ART HIT Y AT ST 52
e Transmision bus / TERARME a9
e Load bus / ‘J-R’EI{E'\‘I
e Generator bus / SdTed 9
e Slack bus / 9R 9e a1t 59
Correct Answer :-Slack bus / 9 ge arat 99

22)
Question Stimulus :-
Electrical

Find the impedance if a pure resistance of 150 Q's is in series with pure
capacitance of 180 p farads. / faaTyT 91d ¢ (e 150 Q FT Y UfeRIY 180 p
Hr1S @t uifear & a1y gen § Ry 21

AN~ {}

150V 50 Hz

e 149 Q’s
e 150 Q's

e 151 Q’s



e 152 Q’s
Correct Answer :-151 Q’s

23)
Question Stimulus :-
Electrical

The control system in which the output quantity ha§ no effect upon the
input quantity are called control system. / =0T yumTedt forad Sdure &1
HIEAT BT ATEH] B HEAT UR BIS YU ) USdl 8 39 fri=roT goTTel gt ST 21

 Open loop / Hdl U
« Closed loop / 4G U
e Variable / W}
e Non - variable / 3R
Correct Answer :-Open loop / Hdl U

24)
Question Stimulus :-
Electrical

Varia%le speed cannot be obtained with / f&a% T4 TR 7Ifd & Ut A1 fovar
b dl

DC motors controller / SRt Aex s
derivative controller / W& fAda®

soft starter controller / RIfY@ Wik s
AC & DC controllers / T3l 3R ERft iz

Correct Answer :-soft starter controller / fR1f¥a w1 fFrim®

25)

Question Stimulus :-



Electrical

Application of occupancy sensors is well suited for / 3fUYFR Hded (Gﬁ'?]ﬁ'\‘ﬁ
TIR) BT IVANT 3Bt aRE A fFad s siar g

« day light based controllers / f&9 & IoITe W muTiRd fHdse & forg
« night based controllers / Id 3MYTRd fFaz® & fore
« integral controllers / 3fUd fAaa®

« movement or noise detector in room space / HHI H Tfd T R
Sga® & fau
Correct Answer :-movement or noise detector in room space / HHY | fa ar
R AgE® & e
26)
Question Stimulus :-

Electrical

Which of the following information is available on name plate of a motor?

/ Fafafe & @ F19-F g1 te MR #) am-ulger R Iuawl 82
« HP rating / T4l I
e RPM / 3RUIEH

 Frame model / Y Hlsd
« all the above / SWRIad 94t

Correct Answer :-all the above / IWRIad G4t

27)
Question Stimulus :-
Electrical

The design of insulation for systems above 400 kv, is based upon:- / 400

& 3P a1 YUITell & e (SgAR) &1 feoms f6a W enutia giar 82
« lightning over voltage / diees 3Mf4F



e switching surges / fafi # gfg
« system voltage level / YU & dieeol T WX

e system load level / YUl & HR T TR
Correct Answer :-switching surges / feafem ﬁ'q@

28)
Question Stimulus :-

Electrical

Copper behaves as a / diq1 fAfiRad & U A sUagR &1 8
e conductor always / E'I?ITEIT JdTdd *® U H

e conductor or dielectric depending on the applied electric field

strength / JaTa® AT HaTad & ¥U d ol RIUa fagaa &= ot wfaa
Rk svar @

e conductor or dielectric depending on the frequency / {did® 41
Faa® ot Mgfa W AR swar g

e conductor or dielectric depending on the electric current

density / gaTa® a1 FATA® of fagad varg v9@ R R swar @

Correct Answer :-conductor always / Bﬁ'-‘IIT JATAD U H

29)
Question Stimulus :-
Electrical

An electric motor with ‘constant output power’ will have a torque speed

characteristic in the form of a / ﬁ'ﬂﬁﬁ?ﬂﬁm Wﬁ?ﬂ?ﬂ'ﬂ
fwifea # fras &9 # T e Tfa o1 fadvar gift

« straight line through the origin / I®I & ATeAH I Hieh War

- straight line parallel to the speed axis / 7fd 31& & FHMIAY Aleh
¥ T



e circle about the origin / @I & aR ¥ g1

 rectangular hyperbola / AR ffduzaad

Correct Answer :-straight line parallel to the speed axis / i 318 & JHHGR
Heh

30)
Question Stimulus :-

Electrical

During no-load test, an induction motor draws power / ﬁ’s‘ mqﬁtﬁﬁ%
Wi & R, TP U1 Hiex gRT fagad ure &t oIt 8

e for core loss and windage and friction loss / 9IS g™ AR qig
giur 3R afur g1fy & forw

e for core loss and copper loss / IS el 3R a9 F1 g & fere

« for copper loss and windage and friction loss / did &1 g1f4 3R
91y gyuT 3R Tt g1 & ferw

 only for the very small copper loss / Had 3T YRHAT H Tid B

g1 & forg

Correct Answer :-for core loss and windage and friction loss / PIS B 3R

arg Tyt SR ufur g1 & forg

31)
Question Stimulus :-

Electrical

In a single phase ac motor, the condenser is used to / Udh Udhdl IR0T ard E‘\‘ﬁ
Hiex ®, Fufs &1 yan faar s @

« split the phase / TR0 &I fguTford #1 & fore

 minimise the radio interference / o afaRuT B FH P &
ferg

e minimise the losses / ﬂﬁﬁﬁﬂﬂﬁ%ﬁl‘t{



e minimise the current / ﬁg‘*ﬁ URT P! HH P & ﬁl‘Q
Correct Answer :-split the phase / TR &I fauToa $31 & e
32)

Question Stimulus :-

Electrical

The construction of dc motor is / SIHl HIeX &1 fator grar %
« same as that of dc generator / SRfl SR & FAT

- different than dc generator / Sl 9= ¥ex ¥ fUa

e similar but different in frame construction / IdM, Wq %H &
fator d i

o different in construction and similar in frame construction

/ Fmior ¥ fi wiq %y At § 9ue

Correct Answer :-similar but different in frame construction / I9M, U e

& frrmfor & fira

33)
Question Stimulus :-
Electrical

Interpoles are meant for / $e3Uld &1 T HH 8

e increase in the speed of the motor / HieX &1 7fd # gf

« increase in current e.m.f. / fagad YRT & 5.7H.TW ¥ gfek
e increase in the strength of the main field / Y9 & & Afda A

I

 reducing sparking at the commutator / am]é?\r A Y & HH
HIAT

Correct Answer :-reducing sparking at the commutator / WET H Y &t
DHH HIAT



34)
Question Stimulus :-
Electrical

The torque of an induction motor in synchronous watt is equal to

/ TeaSTiere T § T IROT HieX &7 b [$ad SvIeR gidl @
e rotor input / Ej:Uh? STql+d
« stator output / Rfd® IdaTeA
« stator input / Rfd® 3MeM
 watts at rotor speeds / guUl& fd R dTe
Correct Answer :-watts at rotor speeds / W fd W= 91e

35)
Question Stimulus :-
Electrical

What is the coercive magnetic force (H¢) value of ceramic type of
permanent magnetic material? / CIsl! ﬁl@ & PR & TG ﬂiﬁﬂ'q it & fag
STHTHP Gab g g (TIAT) BT H{F T FIIM?

« 600 kA/m / 600 HT/TH
e 100 KA/m / 100 $T/TH
« 60 kA/m / 60 $Y/TH

¢ 200 kKA/m / 200 $T/TH

Correct Answer :-200 kA/m / 200 %Q/TH

36)
Question Stimulus :-

Electrical



A starter is necessary to start a dc motor, because / Tdh S Hier B a1
P4 & U U WIdR 3axus 7, Rifp:-

e it is used to start the motor / 98 HieI H! A1 HI4 A WA BT 3

e it restricts the speed of the motor / Ug HIeX &t 7Ifd &I Ufdsfed
Pl 8

o it limits the back e.m.f. to a safe value / g diUy 34 91t
3.UA.U% &l TP JRIed A9 9 i 3&dr 8

e it limits the starting current to a safe value / ﬂ?ﬂﬁﬁﬁ%ﬁm
3mags fagad yRT & ufkATor Y T Rféra a1 a6 Wffa w@ar 8

Correct Answer :-it limits the starting current to a safe value / 9% HTQW

& fore smaxa® fagaa U1 & afivaTor #) v qRfdga uH 99 Wifta @ g

37)
Question Stimulus :-
Electrical

What happens if the field winding of a_running shunt motor suddenly
breaks o%pen? / 1 g afe ufanfera 8 ¥8 UIRia Ssfrd Hier &1 &3 $sdl g I
Wl SIldl 872

« Its speed slows down / 31 Tfd i+ 81 =<t @

« Its speed becomes dangerously high / 9®! Tfd Wd3AT® ¥4 |
g g ot @

o It gives out sparks / 399 R} fApaq rar @
« It stops at once / U8 qid && dl §
Correct Answer :-Its speed slows down / sH®! Tfa i+ g ot @

38)
Question Stimulus :-
Electrical

The speed of a three phase cage-rotor induction motor depends on / T&h



I Bl a1 Fe-AeR (YUIF) IRV Hiex ot T g w R et 82

e frequency of the supply only / %ad 3MYfd &1 Mgfd R
e number of poles only / Had Ydl B TSAT WX

* number of poles and frequency of the supply / ‘Qﬂ’f & I=T aYUT

3TYfd @t gfd W
e input voltage / 3R dieesl UR

Correct Answer :-number of poles and frequency of the supply / ga‘r )

T&AT 4T 3MYfd &t Smgfa w
39)

Question Stimulus :-

Electrical

If speed of a d.c. shunt motor increases, the back emf: / af¢ T® S1.31 UR{g
Psford Hiex ot T 9¢ w6l 8, 99 fUsar STauw gt smem:

e increases / d¢ ST

o decreases / Yc SITE

* remains fixed / ﬁ'CIHEFITQ%TIT

 decreases and then increases / tl??fﬂ%"‘ﬂfﬁ)‘v!'@l%"‘ﬂ

Correct Answer :-increases / dg¢ SITU

40)
Question Stimulus :-
Electrical

Determine the absolute error of measurement if measured value of a
resistance = 20.65Q and true value = 20.55Q. / HIY &t fARUe Ffe &1 FuiRor
P gfe AT Y UfaRIY &1 7M1 = 20.65Q 3R I d19 20.55Q 2|

e 0.1Q

® 0.2Q



® 030
°* 040

Correct Answer :-0.1 Q

41)

Question Stimulus :-

Electrical

The function of equalising connections in a lap wound d.c. generator is:

/ afa Feelt (AU dis) .3 S eX | IHSR! Yo &1 $1d gidl &

« to neutralise the armature reaction effect / 3THIR & Ufafehar &
U9 &I fAwd HAT

 to avoid unequal distribution of currents at brushes / 9T IR

fagad 4RT & ST fAaRoT &t B d BT
« to avoid short circuit current / @Y IRUY a1d fagaa «RT & T
« None of these / SWRIad | ¥ HIg gl

Correct Answer :-to avoid unequal distribution of currents at brushes / s
W fagad YRT & AT faaror Y B d HRT

42)
Question Stimulus :-
Electrical

In a d.c. machine without inter-poles, to get commutation improved, the

brush shift angle must be: / {391 Sex-ua ara 1.3 a=fF ¥, fewuRad 4 gur
P & [T, I & fTRITYT & BT I 3G T FeT:

e varied with change in load / i A yRadd & 91y deddl g3l
 kept constant / Fadi® g

e Zero degree / XA &t

« None of these / SWRIad H A &5 gl



Correct Answer :-varied with change in load / @S # URad & 1Y SGadr gail

43)
Question Stimulus :-
Electrical

The steady current when flowing through the conductor, does not
distribute uniformly, rather it has the tendency to concentrate near the
surface of the conductor. This phenomenon is called:- / JITA® A DR
yarfed g arelt sruf¥ad fagad yRT Ta wu A Rafa 78 a1dt ], s aoiry s
Wgfa GATa® $t Gag & Hde Adbfad g4 Tl 81 59 RGeS B BT JACI 3 - -

Skin effect / IUNTR UHE

Eddy current / Ya¥ 4RI
Hysteresis loss / U« $1 814
None of the above / SWRIgd H A H'ﬁ'é el

Correct Answer :-Skin effect / SURIR UHIG

44)
Question Stimulus :-
Electrical

The phenomenon of rise in voltage at the receiving end of the open
circuited or lightly loaded line is called the:- / o TRUY T geob T | W §3
Y@ F AfumEt RY W diees # i 819 3 ufvaer o) g1 o 8: -

Ferranti effect / WRI=Il YHTd

Skin effect / IUNER UHE

Induction / RO
None of the above / SWRIad A | $Ig T8l

Correct Answer :-Ferranti effect / HRI=I UHTT

45)



Question Stimulus :-
Electrical

Which method requires a standard capacitor in terms.of which the self-
inductance is expressed? / B9 H fafl & forw v A AT F smazadar g
I HHA § o9 @RS oI ifieaad fear wrar 32

e Andreson Bridge / \’vl:l%'ﬂ"rﬁ\_rl
e Hays Bridge / o9 fow
« Heaviside-Campbell Bridge / 8dlUgS-$Had faw
e Owens Bridge / 3o~ fawr
Correct Answer :-Andreson Bridge / &F@@fﬁlﬁr

46)
Question Stimulus :-

Electrical

Non-.Conventior.la! methods of power generation is/are:- / ﬁg‘qa I &
R-IRRAT faftrr §: -

« Solar power generation / IR fagaa IareA
e Thermionic converters / AURAN® URad®
e Both of the above / SWRIad il

e None of the above / mﬂﬁﬁ'ﬁaﬁﬁﬂﬁ

Correct Answer :-Both of the above / SR aT-ﬁ'

47)
Question Stimulus :-

Electrical

What are considered as a point of constant voltage in a system? / e Udh

worelt § fFraa dieew & U fig & w9 & 91 S 82



Buses / d9

Nodes / AigH (feq)

Both of the above / SWRIT gl

None of the above / SWIad # § ®Ig Aol

Correct Answer :-Buses / 99

48)

Question Stimulus :-

Electrical

The study of various methods of solutlon to power sgtem network is
referred to as flow study. / el JHIYTH B4 $! fafis
faftr & srema &t ma{w%wﬁmmél

e Load / R

e Inductance / WUl

e Capacitance / SIEGI

* Resistance / UfaRIY
Correct Answer :-Load / R

49)
Question Stimulus :-
Electrical

Electronic variable frequency drive (VFD) connected to motors / ﬁgﬂﬁ
ufvad amgfr g12a (fluwdl) Hiew ¥ 1| @

« provides variable speed with high efficiency / 3= G&dl & 1Y
ufadf 7fd v Har §

e induces eddy-current in the primary member of the clutch



mechanism / 3d YU & YIYH® Hexg § Wav 9RT &) Ufvd s3ar @
« is not suitable for passive torque load / fspa g@-3mgul YR &

ferg Sugea =&t @

e does not provide variable speed and has low-efficiency / ufadf

Tfd uer Tg) Bedr @ SR qeer g

Correct Answer :-provides variable speed with high efficiency / 3™ G&dl &
a1y ufeadf Ifq wer e @

50)
Question Stimulus :-
Electrical

As an energy efficient application, for what does the slip power recover
system fit well? / & PR SIUART & ¥ H, JUT e Y= TSy sqa<T (
TR frpadt fRew) Wﬁmaﬁﬁaﬁﬁﬁw—eaﬂ%

e Squirrel cage and slip ring motors / WW 3R f&ag fa
e

e AC induction motor / E‘\‘ﬁﬂ?‘UT'FﬁE?
e Slip ring motors only / $ad Juf gag Hiex

« None of these / 94 ¥ ®Ig gl

Correct Answer :-Slip ring motors only / F9d Jul gag Hiex

51)
Question Stimulus :-
Electrical

What is the energy efficient transformer core made up of? / W‘f@"\’lﬁ

TRIBTR BT J&I U ($R) f5a & a1 e 2

« Silicon alloyed iron (grain oriented) / ffa®4 fAfsa | (@A™
)

. iron/FﬁET



« amorphous core-metallic glass alloy / A8 HR-UT & Hid Y
urd

« None of these / 399 ¥ &I gl

Correct Answer :-amorphous core-metallic glass alloy / e Hﬁ'\f-%n'g’ &
o iy urg

52)

Question Stimulus :-

Electrical

Application of DC motors is generally restricted to a few load speed
applications. It is due to which of the following factors? / Sl HicH &1
STUANT 3T dR TR $9 YR $ Td rua) d Wt 81 ear Fafifad srel § 9@
fPad srRUI A &2

the cost of the motor is high / e I aFId 954 U gidl 8

the problems with mechanical commutation / Fif3® feaufyada
& 1Y JHHT

the maintenance problems / ¥@GRWId @ g

None of these / §7H ¥ ®I§ gl

Correct Answer :-the problems with mechanical commutation / gitA®

fefyads & a1y guwn

53)

Question Stimulus :-
Electrical

As the voltage of transmission increases, the volume of conductor / qIRYU

& diced H gfeg 89 W, ITA® HT A I
* increases / E%TIT
« does not change / URafdd =g giar 8
o decreases / e



« increases proportionately / 3UIfd® &0 A de

Correct Answer :-decreases / e

54)
Question Stimulus :-
Electrical

‘Crawling’ in an induction motor, is due to / T& WU HieX # ‘faudur feas
PR g1 8

« Voltage harmonics in supply / 3mgfd ¥ fagaa gra qumgfa
e slip ring rotor / uf qerg e

e space harmonics produce by winding currents / Q'Te'.ﬁl?r YURT gRT

ITfed T Ugha
e insufficient starting torque / EI'IQW & fere YT 9 GITELUf

Correct Answer :-space harmonics produce by winding currents / Q)?,ﬁl?r

YRT gRT IATGd T O

55)
Question Stimulus :-
Electrical

By providing a variable resistance across the series field (diverter) in a dc
series motor, speeds above normal can be obtained because / T® S Aex

e § JYl §dT 87 (ST39¢R) H TH W UlARIY WM e, 9IHT A e & it
ured fhar 51 I wife

e armature current decreases / TR &I fagad YRT &H g1 Wl §
e flux is reduced / WdTg HH 8l STCT &
e line current is decreased / dIgd YRT ®H s‘r NIGH %

® none of these / s-—n?rﬁaﬁ'éqe‘t

Correct Answer :-flux is reduced / Udig ®H ﬁ IGLH %



56)
Question Stimulus :-
Electrical

A series motor should not be started on no load. It is because / T®% 8[@?”

91 Hiex H {991 YR & a1 =81 fovar o= Tnfdu| sl aeig U @
« the starting current will be high / AT &3 ardt fAgaa YRT 9

grft

e the speed of the motor will be very high / Hiex @t Tfa qdgd 3ffe

grft

« excessive sparking will occur at commutator / feFaRade
e R e am

« none of these / 399 ¥ ®Ig gl

Correct Answer :-the speed of the motor will be very high / Hlex @t i qdgd
3ftre gt

57)
Question Stimulus :-
Electrical

Electrical machines are designed to have the maximum efficiency at

/ Tagaa a=ii=i & foa fRufa § siftrean emar ® o1t 31 & e dur fear siar @
e full load / IUf YR
« 50% of full load / Juf YR HT 50%

« near about full load / Juf YR & A@e
¢ no load / 5 HR gl

Correct Answer :-near about full load / J0f 4R & fA®e

58)



Question Stimulus :-
Electrical

Which of the following is common cause of brush sparking in a universal

motor? / AdRA® A H 79 ¥ A e o1 9ad W= SR 914 372
« single phase armature winding / 3TH@R § $Sdl &1 THA °TI0T G
 open armature winding / 3THTR # HEdl BT GaT AT
e high commutator mica / ﬁﬁ?ﬂﬁ‘?ﬁiﬁ HAYD

e shorted armature winding, open armature winding and high

commutator mica / 3THIR # $SAl BT BT §IH1, ATHIR H HSdAl BT
g g1, 3R 3= fewufiad® sivue

Correct Answer :-shorted armature winding, ogen armature winding and
I

high commutator mica / 3R # $Selt BT Diel THER H HSdl T JaT g1,
IR 3= fReaufvad® srve

59)
Question Stimulus :-
Electrical

In dc machines, the / T% SRIt A= #,

® torque and induced e.m.f. are produced both in motor and generator

/ 9 3mguf 3R UG §.0H.TF BT Idred Mex iR 9-Rex a1l # fabar wirar 3

e torque is produced in motor and e.m.f. is in generator / dd

3TYUf HT It Hiex 3R URT 3.00.T% &1 Idred s-vex d far wirar 8

* torque is produced in generator and e.m.f. is in motor / dd

3Tl BT IdUTEH S-veR 3R ARG 5.TH.TF &1 ITeH Hiex | fbar wirar 8
« None of these / 99 & &g gl

Correct Answer :-torque and induced e.m.f. are produced both in motor and generator
/ 9@ 3mguf 3R UG $.T0.UF &1 Idre Hiex 3R SRex gl # farar wirar @

60)

Question Stimulus :-



Electrical

With core type transformers, the limbs are stepped to / PR UPR & TIABTHT
¥ AT, HF B A B a1 e @

 reduce the zinc material and, therefore, zinc loss / STl 3|

AT B FH BT, 3R 59 YPR, TS g B g T

 reduce the conductor material and, therefore I2R loss / aTd®

AT B BH BT, 3R 5 UPR, 32 AR HI 1 &) g
e provide better cooling / dgaR e UeH BT

 supply more mechanical strength to the core / HR Bl 3AfUH
gifi® i mgfd @

Correct Answer :-reduce the conductor material and, therefore I2R loss

/ JATaP T B HH B, 3R 59 UPR, 3152 3R B g1 S ger 1

61)
Question Stimulus :-
Electrical

For linear electromagnetic circuit, which of the following statements holds

good? / W% fagad ulvuy & forg, fFufefaa sy 4 9 $19 9495 82
* Field energy is equal to the co-energy / &SIl AB-FHoll &b aRTER

 Field energy is greater than the co-energy / &= Wfﬂ's’-m‘fﬁ
qa-T ¥ 3iftre 8

* Field energy is lesser than the co-energy / &F el gg-Foll Pl
qa A g

e co-energy is zero / W-W‘fﬁfq s

Corre%t Answer :-Field energy is equal to the co-energy / &= Wfﬂ%’-ﬁf%
CRICES

62)



Question Stimulus :-
Electrical

Two transformers when operating in parallel will share the load depending
upon their: / W9 gl SBTHR UG § afvEmad gid 8, 99 9 f5ad Sy IR 4R &

Wﬁ'ﬁ:
e alternating current / UATddl R
e inductive reactance / WRUT ufcrerd
« per unit impedance / Ufd g&1S Ufaaren

o efficiency / Q&dI
Correct Answer :-per unit impedance / Ufd g&T1s UfdareT
63)
Question Stimulus :-

Electrical

If a synchronous motor is switched on to 3-phase supply with its rotor

winding short circuited, it will: / af¢ T& gea®Ifde Alex AP A & Hedt A
TY-uRuY= g, 3§ @9 - bl ara fagaa enyfd W wuFiaia &2 fear wirar 3, 99 I8

o start / 9T g1
e not start / mﬂiﬂﬁﬁ

e start and continue to run as induction motor / iﬂﬁﬁ"ﬂ AR TH
URUT HISY & FU Harferd gielt @

e start and continue to run as asynchronous motor / inqeﬁ’r 3R

TP AJeUPIAS HIeX S Y HaTferd giat w&h

Correct Answer :-start and continue to run as induction motor / W'&ﬁ"ﬂ

3R TS W7 Hiex & Y Haferd gidl o

64)
Question Stimulus :-

Electrical



Which of the following method is used for the precise measurement of self
and mutual inductance and capacitance of a bridge network with an
alternating current supply?

fFrafafea & 3 59 faft &1 Sy yarad! arT @1 smyfd ara foe Aead & @ aur
T WP a1 YTival & It |y & fore fapa sirar 82

Three ammeter method / o9 THileR fAfY
Three voltmeter method / 9 dicediex fafy

General balnace equations for the 4 arm bridge method / 4

YSIT aTet Y fafr & fore = dqaq aefteron
Alternating current bridge method / Y&Tadl URT I faf¥r

Correct Answer :-Alternating current bridge method / Ud@Tadl YRT | faf¥r

65)
Question Stimulus :-
Electrical

The shape of torque/slip curve of an induction motor is: / T® WU Hick § 99
3Tgul/ T 9% BT PR BT &

hyperbola / 3ffduzaad

ellipse / qdI®R
straight line / el vt

rectangular parabola / ”AdI®R URAd

Correct Answer :-rectangular parabola / STIdI®R GRddd

66)
Question Stimulus :-
Electrical

A synchronous motor operated at no load with over excitation condition to
draw large leading reactive current and power is called a:- / T

GREAINED
Aiex fomr frelt UR & Srcafie Idw &t fRufa o faxma ufvamor & ufaferaria fagaa



YRT 3R faa Wiew & forg ufeanfera ghar 7, R wg1 SIran § :-
« Synchronous motor / TE®IAd Alex
e Capacitor start motor / SUTRT H AT HA qTT Hlex
e Synchronous condenser / RIBIAD BT
e None of the above / Wﬁﬁﬁiqﬁ
Correct Answer :-Synchronous condenser / Wﬁﬁ? HoAIA

67)
Question Stimulus :-
Electrical

The phase angle introduced between the induced emf phasor, E and
terminal voltage phasor, U during the load condition of an Alternator is

called:- / U% 3ee¥e’ & HR a7 fRUMA & IR, IR Suraew bor, § ik efifqa
died $oR, § & dd UwTad $aAT DIV DI BT oIrdl 8¢ -

e Electric angle / Safac® HIvl
« Mechanical angle / TifA® HIvT

e Load angle / @IS HIUI
e None of the above / mﬁﬁﬁﬁ?-‘lﬁ

Correct Answer :-Load angle / @IS ®IUl

68)
Question Stimulus :-
Electrical

Find total ampere turns if in an iron ring of mean length 60 cm has an air
gap of 2 mm and a windings of 100 turns and current of 2 A flowing

through the coil. / $@ THR & W1 (T) I G-I F1d B e 60 JH AT TATS
91d die & U ot A 2 firft ga1 &1 oiar @ Sik Fselt A 100 WRT (TF) IUT 3T g
2 THitR $t fagad uRT yarfed gt 21

e 100



e 200

e 300

e 400
Correct Answer :-200
69)
Question Stimulus :-

Electrical

Which among the following has a frequency selective amplifier whose gain
decreases from a finite value to zero as the frequency of the sinusoidal
input increases from dc to infinity? / fAafafaa & § #19 91 t& gy Ta- T
THATERR g e @t ¥ a9 @ ge S Y 81 oI1dT 8 o1d Sa1a i A1eH 3t
Mg S A deH 3Hd Bl wTel 82

low pass filter / 79 3maft TR® fheer g g
differentiator circuit / 3@ d® TRYY

leaky integrator / &RUI HHIGAD
voltage follower / dleed ST
Correct Answer :-low pass filter / {7 31qfti IR® fibeex A9 q@

70)
Question Stimulus :-
Electrical

The ratio of lumens in the beam of a projector to the lumens given out by

lamps is called the:- / T& Muigex & B30 U9 & SHfQ ofik dv gRT 3w e difa &
SUTd B T $Ed 8-

e Beam factor / f&0Igs RS
e Luminance / Udifa
« Power factor / fagdd oR®



« None of the above / SWRIa | ¥ &g
Correct Answer :-Beam factor / f60IYs $R®

71)
Question Stimulus :-
Electrical

The plot between the power angle and time is: / ﬁ?ﬂﬁ P07 3R IHY & S°
3ATAE I HgT ol &

Swing curve / Sidd 9%

Power curve / TIf& 9%
Critical clearing angle / Fifd® JHIRNYA ST
None of the above / SWRIgd & ¥ HIs

Correct Answer :-Swing curve / g4 9%

72)
Question Stimulus :-
Electrical

is the voltage that has been selected for HVDC transmission.

/9% dieew § Rree! a qadidi arwr  fig frar w2
e + 500 KV
e 550 KV
e + 600 KV
e + 300 KV
Correct Answer :-+ 500 KV

73)
Question Stimulus :-

Electrical



Find out the average monthly load factor / NTd AP YR &HdT T B
Given / afe fear mar 3
Reading obtained for 1 month =30days / 1 nﬁﬁ%mmm = 30 feA
kWh drawn per month = 386,540 / Ufd HIg @WUd f¥diare ¥eT = 386,540
Maximum demand = 1500 kW / 3if/&as a1 =1500 faeiare der

e 35%

e 45%

e 55%

e 65%
Correct Answer :-35%
74)
Question Stimulus :-

Electrical

If a transformer has a hysteresis loss of 10 watts on AC and is changed to
DC supply of the same magnitude, then the hysteresis loss will be / af¢ Tt

W TP BT @1 AfYed g1 10 are § MR o9 33 I eyfed ™ wHiaia # &
STt §, a9 Qfreq g gnft

e double / AT

e half / 3TUT

e zero / YA
« None of these / 99 ¥ &I =gl

Correct Answer :-zero / [

75)
Question Stimulus :-

Electrical



A transformer having 1000 primary turns is connected to a 250V ac
supply. For a secondary voltage of 400V, the number of secondary turns

should be / T& SiABTHR S/ 9H 1000 WIS BT (FSdl) & SV 250 dlee F T
3Myf |/ Waifera fpaT wiraT 21 400 diee aTd Us fgdiae dieew & g, fdtue Bl
(Psferal) St wem T gt

e 1600
e 250
e 400
e 1250
Correct Answer :-1250

76)
Question Stimulus :-
Electrical
In a series RC circuit, the voltage across the capacitor and the resistor are
60V and 80V respectively. The input voltage should be / U® 4ddl |
A ufvuy o, Jqut Juria sik ufariel # aiees wHRI: 60 diee 3R 80 diee &1 31Yc
(3TETT) dieesl BT A1eT
e 70 £ 45°V / 70 £ 45° dieew
e 100 - - 37°V / 100 2 -37° dieed
e 105 2 -42°V / 105 + —42° qiecd
e 108 - -60° V / 108 ~ —60° diecd

Correct Answer :-100 -~ — 37°V / 100 ~ -37° diceol

77)
Question Stimulus :-
Electrical

What is the type of bonding in SO5? / SO, ¥ {&d SR &1 ¢4 faew= 82



Ionic / K ICIBEY
Metallic / YTds

Van der waals / dIHd S dIcH

None of these / 74 ¥ ®I§ gl

Correct Answer :-Ionic / 3TON®

78)
Question Stimulus :-
Electrical

Which of the following motors does not use a centrifugal switch? / fadad

DI AT HIeR TP SRIUARS a9 BT IUART 81 Bl §?
single phase induction motor / WWﬁWI‘Fﬁ?\’

capacitor start capacitor run motor / JUTRT | =TS gF aTaT 3iiR
gt | ufvarferd g+ arar diex

shaded pole motor / BWifhd Yd Hex
none of these / 374 ¥ ®I§ gl

Correct Answer :-shaded pole motor / SHifdbd Yad ez

79)
Question Stimulus :-
Electrical

The effect of stray magnetic fields on the actuating torque of a portable
instrument is the maximum when the operating field of the instrument and

the stray fields are / & UIdad SUPHUI & Afhd T-3TYUI WX fI@R §C g1 &
BT UG AU ST 8 O 49 T PSR! &F 3R fawwT a7 gar 8

e perpendicular / dddd

e parallel / FHFIR



e inclined at 60°/ 60° W T gail
¢ inclined at 30° / 30° TR [T g3
Correct Answer :-parallel / FHMFIAR

80)
Question Stimulus :-

Electrical

Phase %mdifiers in AC transmission line are: / E'Fﬁ URYU GIER) s | tl%ﬁ GELY]
MY B:

e synchronous machines / Wﬁﬁ?ﬂ'&ﬂ?
e Induction machines / WU u=iH
e DC machines / St #=i9
 Transformers / TIABIHR
Correct Answer :-synchronous machines / Wﬁﬁ?q&'ﬂﬂ

81)
Question Stimulus :-
Electrical

Which of the following indu;tries will consume maximum power per tonne
of product? / fFafafad ST & | $iF-41 ufd e S & e sifkpay fagaa @i
TUd HEM?

e Zinc / i

e Aluminium / TIfIfgw

« Alloy steel / fy YTq H1d
e Cement/ e

Correct Answer :-Aluminium / TegAfas



82)
Question Stimulus :-
Electrical

In which type of heating following factors need to be considered: / f5a

UHR & dv § FuRif@d R R AR $31 $ T=wd gid 2:

a. Thickness of the surfaces to be heated / &%) T+ fpu oI+ a1t Jasl Bt

b. Thickness of the surfaces to be heated / %) o %E W4 aral Hﬂﬁr &t
Hierg

e Infrared frequency / 3fa3ad 3TgT
« Radiant frequency / $ftad smgfy

e Dielectric frequency / 3[@TA® Mg

e Induction frequency / WRUI g

Correct Answer :-Induction frequency / URUT 3gf

83)
Question Stimulus :-
Electrical

The terminal board of a motor is as shown in the diagram. Which type of
mo%or is this? / TP Hiex & efia 9IS &I o # fewmar a1 81 g8 HieX f6d yoR
Pl B?

il B

®) O
i

i
P,

« A induction motor with commutating pole winding / feFaRad®
[ Sl & 1Y TH YT HieX

e A shunt motor with armature winding / ?ﬁﬁlﬁﬁ’f & 9y Udh
UTR[d Psferd Hlex



e A shunt motor without commutating pole winding / fewufvad®

4d Fedl & faIT T uRla Fefera Alex
« A series motor with spiral winding / el & 1Y TP @l HleX

Correct Answer :-A shunt motor without commutating pole winding

/ Reuf¥ad® ya Feait & o1 ve u=fa Fsfem AR

84)
Question Stimulus :-
Electrical

Ferrite cores are used in high frequency transformer, because it has:

/ RIS BR BT ITENT I AGRT TP | fohdr ST @ e s9P Uy e
e average permeability / 3NAT URATRIGT
« low hysteresis / A9 Ay
« low impedance / &H yfdaryn

« high resistance / 3= UfeRIY

Correct Answer :-high resistance / 3 ufeRTe

85)
Question Stimulus :-
Electrical

Circuit turn-off time of an SCR is defined as the time: / T® Qﬂ?‘ﬁ\’rl'l'\' & ufvuy
& 9 B P f59 g & = § guRyfa fear mar 8:

« taken by the SCR turn on and them turn off / TSR fagaa urRT
B URRY 3R g5 g1 #

* required for the SCR current to become constant / RReA &

fore ToetemR fagaa &t srawas

e for which the SCR is reverse biased by the commutation circuit

/ Forads fore oftemr @t fgaafyads afvuy gRT wmEfefRre amaw fear

oITdT 8



 for which the SCR is reverse biased to reduce its voltage

below the holding current / WWWMG%W%WW
;@mm%mmﬁ@amaﬁwmﬁﬁmﬁmmm

Correct Answer :-for which the SCR is reverse biased by the commutation

circuit / fora® T TERilR & fRgufvads uvuy grT wxEfRie s fear smar @

86)
Question Stimulus :-
Electrical

A 4 bit synchronous counter uses flip flops with propagation delay time of
15 ns each. The maximum possible time for change of state will be: / T® 4

fe qeaaifere fRIT &1 ITATT $R ¥ 15 A b TP & TR | T 0y & 91y
WY | aRIT & gRad- & fore siftrewan wu 994 g1 sre:

« 15 ns / 15 3t &8
. 30ns/30ﬁ=ﬁﬁ5ﬁ
e 45 ns / 45 A4 Y&
60 ns / 60 =l dbs

Correct Answer :-60 ns / 60 A9 dbs

87)
Question Stimulus :-
Electrical

Find the value of the resistor R; from the given circuit. / ﬁq Rl oy §
feRIU® R, BT HIH JTd B

R1 R2 R3

AN AMA——AM—

6V 4A

e 1.5Q



e 1.6 Q

e 1.7 Q

e 1.8Q
Correct Answer :-1.5 Q
88)

Question Stimulus :-

Electrical

The purpose of earthing electric appliances is: / fagad Sumzn # S (Y-
Hud) RIT $I ST FT 324 o

to provide safety against shock / e® & fds JR&T UG HAT

to ensure that the appliance saves current / gHfia &3 f&

SUHIYl fagud T=1 3@

to ensure that the appliance gets full voltage / ﬁﬁl‘f@ﬁr AT b
IUDUT YUf dieesl UTwd b

None of these / Wﬁﬁaﬁiqﬁ

Correct Answer :-to provide safety against shock / QE% * faos & Uald
HIAT

89)
Question Stimulus :-
Electrical

A single-phase transformer has a turn ratio of 1:2, and is connected to a
purely resistive load as shown in the figure. The magnetizing current
drawn is 1A, and the secondary current is 1A. If core losses and leakage
reactances are neglected the primary current is / Tdh Thd U g‘R‘I‘CFI'ﬁ? Cai
YU 1:2 3UTd & 3R wﬁwuﬁﬁwmﬁqm%ﬁw%ﬁaﬁﬁ@mw%
ﬁ?ﬁzgﬁﬁu 1 THIRR g, 3R Rifegs fagga urT 1 thiR 81 afe R 9t g1 ok
fama & ufe”iy a?rtﬂ?r @ Il §, 99 WA fagaa urT 8|



- 1A
1.2 B

1.41A / 1.41 TORR
2A / 2 THIRR
2.24 A / 2.24 THIIR
3 A/ 3 THRR

Correct Answer :-2.24 A / 2.24 Q’FfﬂCR

90)
Question Stimulus :-
Electrical

An amplifier has a gain of 20 without feedback. If 10% of the output
voltage is fed back by means of a resistance negative feedback circuit, the

overall gain would be: / WW@W%WWW&I‘W% 20 ATH %I gfe
IdIfed diees & 10% B T YfeR1Y ARRIASD Ufafspar uRuy & Areqd I 9rag Well
SITdT 8, o Iwgut ary faraHr gim:

e 16.55
e 19.80
e 10.85
e 6.67
Correct Answer :-6.67

91)
Question Stimulus :-
Electrical

An electric cabin heater draws 15 A at 110 V. If the voltage is reduced to



95 V, the current will be: / T® gafac® i+ aleX 110 dleesl R 15 THRR dices
WIWd $dl g1 afe diees H4 g1 95 dicesl 3§ ol &, af fba-il fagaa uwT warfga gifi:

e« 13 A/ 13 THIRR

e 1.30 A / 1.30 THRR

¢« 73A/ 7.3 TR

. Noneofthese/mﬁﬁﬁﬁ?ﬁ

Correct Answer :-13 A/ 13 Q‘Ftﬂ'CIT

92)
Question Stimulus :-
Electrical

Three resisters of 3 ohm, 10 ohm and 15 ohm are connected in parallel in
a 30 V circuit. The current will that flow through the 3-ohm resistor is:

/ 9 ufay saEr: 3 3N¥, 10 3NH 3R 15 3H T 30 diee dre TRUY & JHHIGR HH
# 98 1 3-3N9 ara UfaRiu® & wreaw A fha-t fagaa urT yarfea gt

« 30 A / 30 THRR
e« 10 A / 10 THR
¢« 6 A/ 6 THRR
¢« 2A/ 2THRR

Correct Answer :-10 A / 10 THIR
93)

Question Stimulus :-

Electrical

The efficiency of is more than 90%. / GRS
90% ¥ 3If¥® |

e motor / HIcY
o transformer / TiABIR




e generator / WeY
« none of these / SWIa # ¥ &I gl

Correct Answer :-transformer / SiIBTHY

94)
Question Stimulus :-
Electrical

A bank of condenser across the load of the factor is used for

/ Tuf & TP S BT ITERT WYUl YR & Urd o forar S 2|
e improving the power factor / ﬁwﬁgmmﬁ%ﬁm

« decreasing the power factor / Xf&H UI& &I geM & forw
« progress in the fluctuations / SAR-d¢Id A WIfd H3 & forw
« quick start of the motors / Hiex &I MY I A & fore

Correct Answer :-improving the power factor / XIfad T | gYUR o & forg

95)
Question Stimulus :-
Electrical

A synchronous motor operates as a synchronous condenser, when it is
. / TP qI@I® Hiex TP JeaPId Hu- & 0 § $1d o dl §, 99 I8

 operated at unity power factor / HHIH fad Uld IR Terferd
o under-excited / IASAT & 3iaiid Tarferd

 over-excited / 3if¥[® IAoHT & 3iaid ferd

« connected in parallel with condensers / SUE & ATY AR A
Gl

Correct Answer :-over-excited / & IS & 3faitd ddrferd



96)
Question Stimulus :-
Electrical

A network contains linear resistors and ideal voltage sources. If values of
all the resistors are doubled, then the voltage across each resistor:- / T

Tl 7 Y TRl AR AMex dledst BT W i 21 afE W wRRius) BT HH
SR 81 97T 8, @ U® Uik | waifgd g+ arat diees &1 J1 gI?

« is reduced to half / 319 TP HH g AT

e is increased by two times / GR[AT d& §¢ ST

« is increased by four times / IR AT §¢ ST

« does not change / IRad= =gl gRM

Correct Answer :-does not change / uf¥ad= =8Y g

97)
Question Stimulus :-
Electrical

The value of current at resonance in a series RLC circuit, is affected by the
value of / T& §@dT ARTe! ufkgy # ufaea™ & fagaa &1 9, e I @ g
g 8

e R/ 3R

« C/ ¥

e L/Ud

. R,LandC/Gﬂ'\’,QFI&ﬁ??ﬁ
Correct Answer :-R / 3R

98)

Question Stimulus :-



Electrical

How much will be the current drawn when 15 lamps of 50 watts are used
for 5 hours per c!ay in a hostel? / mﬁ’rﬁgwﬁwmuﬁ 50 dIc T 15 A4
TS DEEN Haq § ufd f&7 5 4 9@ IuanT far S g2

¢ 6.125A / 6.125 TWRR
e 5.125A / 5.125 THRR
e 4.125A / 4.125 THIRR
e 3.125A / 3.125 THIRR

Correct Answer :-3.125A / 3.125 Q'Fd’l'Q'\'

99)
Question Stimulus :-
Electrical

In a synchronous machine, if the field flux is ahead of the armature field
axis, in the direction of rotation, the machine works as:- / T®

724 ¥, afg &= vare guiv @) f3zm & smfer &7 & arar A om gan @, f \2fi+ fa =u
# &l Bl @

 asynchronous motor / 3fed®Ier® HleY
« asynchronous generator / 3Jed®IAI® SRR

e synchronous motor / JEISIAP Hex
e synchronous generator / 'g’FqTﬂW e

Correct Answer :-synchronous generator / Wﬁﬁ? WYY

100)
Question Stimulus :-
Electrical

High %tarting torque can be obtained in: / RIS 3= eTd | T Ut far o
Hhdl 8?2



slip ring Induction motor / gfte aaareR URT Hiex
squirrel cage Induction motor / ¥&¥d ol URUT HieR
salient pole Alternator / I Yd 3rafeds

non Salient pole Alternator / tiry qJ©T Yd ICIGES

Correct Answer :-slip ring Induction motor / Jffel TEUTHER UUT HIeR



